Further Practices

Further Practice 2.1A
Basic

1.
On the given number line, mark using dots the integers between (4 and 0.

      
     
–6     –5     –4     –3     –2     –1       0       1       2       3       4
2.
On the given number line, mark using dots the integers greater than (3 and less than 2.

       
           
           –3     –2     –1       0        1       2      3       4       

Intermediate

3.
Draw a number line showing integers from 0 to 14. On the number line, mark using dots the integers that are multiples of 4.
4.
Draw a number line showing integers from 0 to 14. On the number line, mark using dots the common factors of 18 and 30.

Challenging

5.
Draw a number line to represent the possible values of x in each of the following cases, where x is an integer.
(a)
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-5£x£3



(b)
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-5<x<3



(c)
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-5<x£3


Further Practice 2.1B
Basic

1.
Write down all the integers between (8 and (1.

2.
Arrange the following integers in descending order.

(32, 53, 19, 0, (19

Intermediate

3.
Zaki, Ahmad and Bala are at a swimming pool. Zaki has dived to the 3-metre mark in the pool. Ahmad is sitting on a life guard’s chair 4 m high. Bala is on a 10-metre high diveboard, ready to dive into the pool.

(a)
What is the distance between Zaki and Ahmad?

(b)
What is the distance between Ahmad and Bala?

(c)
What is the distance between Zaki and Bala?

4.
Marcus has an aquarium that has a depth of 80 cm. He places a red stone at the bottom of it. He also places a bubble tube 10 cm from the bottom of the aquarium. Marcus fixes an ornament at the halfway mark of it. Then, he fills up the aquarium, leaving 5 cm from the top. 

(a) 
What is the distance between the bubble tube and the ornament?

(b) 
What is the distance between the ornament and the surface of the water?

Challenging
5.
Mount Everest is 8848 metres above sea level. Three men were attempting to either climb Mount Everest, or dive in the nearby Indian Ocean. 
By the fourth day, their locations are as follows:
Mr Smith: 330 m under the Indian Ocean
Mr Ameen: 226 m above sea level

Mr  Lim: 280 m below the peak of the mountain

(a)
How high above sea level was Mr Lim?

(b)
What is the distance between Mr Smith and Mr Lim? 

(c)
If Mr Ameen was to descend 576 m, and Mr Smith and Mr Lim remained at their locations, what is the distance between Mr Ameen and both of them?

Further Practice 2.2A
Basic
1.
Evaluate the following, with the help of a number line.

(a)
 –3 + 7


(b)
 4 + (–8) 


(c) 
–6 + (–4)
(d) 
–6 – (–4)  
2.
The cost of a bunch of bananas is $2.50. Find out the final cost be if the cost changes by the following amounts:
(a) 
+ $0.70

(b) 
– $1.20 

(c) 
– $0.90

Intermediate

3.
Evaluate the following without using a calculator.
(a) 
–17 + 15 – 8 

(b)
 20 – (–6) – 7
(c) 
–14 – (–10) + (–5)  

4.
Joe, Asnah and Qawi did a Science experiment. They had three beakers of liquids, A, B and C. Beaker A measured –13 (C and Beaker C measured 77 (C. Asnah and Qawi each measured Beaker B and said it measured 42 (C and 
52 (C respectively. Joe measured Beaker B and said it measured 5 (C more than the mid value of the volumes in Beakers A and C. Whose measurement is closer to Joe’s?
Challenging

5.
Barry has an aquarium with a depth of 50 cm. He fills it up with water to a depth of 45 cm. Barry places an ornamental wheel 7 cm from the base of the aquarium. Then, he places an ornamental house 18 cm below the water level.

(a)
Barry’s goldfish is placed into the aquarium and it swims to the ornamental wheel. How far from the water level is the goldfish?
(b)
Barry drops a marble from the top of the aquarium. It sinks to the bottom of the aquarium, bounces up and lands in the ornamental house. What distance has the marble travelled?

Further Practice 2.2B
Basic

1.
Evaluate the following.
(a) 
(–14) × 9



(b) 
(–8) × (–7)          
(c) 
12 × (–11)



(d) 
(–17) × (–3)
(e) 
(–8) ÷2



(f) 
(–16) ÷(–4)          
(g) 
45 ÷(–5)



(h) 
(–121) ÷(–11)

Intermediate

2.
Complete the following.
(a) 
____ × (–17) = 85


(b) 
6 × _____ = –126 

(c)
 (–8) × _____ = –64


(d) 
____ ÷(–4) = –16


(e) 

____ ÷15 = –6


(f) 
–49 ÷ ____ = 7

Challenging

3.
For each of the following, state the sign (positive or negative) of the answer without working out the answer.

(a)
 (–1234) × 47 ÷72 × (–88)

(b)
 765 ÷ (–443) ÷72 ÷(–908) × (–82)
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